1. (3x—6)+<—%>:ax+boa]ﬂ1,a+b94§;f%?

@ o @ 2 @4 @ 6

B

(3x—6) < (—2) = (3x-6) x (—%l) =—4x+8

Loa=-4,b=38
Lat+b=(-4)+8=4
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® axaxb=2ab @ xxyx1l=1xy
(@)axbe.l:O.lab @ xxyx3=xy3

® axbxcx(-1) = -labc

B

Daxaxb=a’b
@ xxyx1=uxy
@ xxyx3=3xy
®axbxcx(-1)=-abc
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@a+b+c:a— @ a+bxc=a~+bc
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® ax(b+c)=a=+(b+c) (@)a+b+c:a+(b><c)

® a+b+c=ac+b
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@ (-3)x2x @ Tx (—x+2y)
® ~(5x+2) +2(x+y) @ox+ 9+

® -2(3x+3)

B

@ (-3) x 2x = —6x

@ 7Tx(—x+2y)=-Tx+ 14y
@ -Bx+2)+2(x+y)
=-b5x—-2+2x+2y

=-3x+2y-2

1
@ (10x +4) + = = 50x + 20
® -2(3x+3) =-6x-6




